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Question — PHY-C101 | (gaoon) - s | T1( 2023 2024) |
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‘Al =10m , lﬁl -t

il ool D=A+BosH

& The figure shows two yectors
: lAl:lom’|§l=Bm
IfD =K+—ﬁ,nnswerthe[¢num=

L,d03 «(D,) 1 Al ke 23l ©

Find x-componenet (D,), and
D 4338l (D, ) 4l

: y-componenet (Dy) of vector D
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Question (2) Jyed

3 e
x(t) = a + bt + ct? Ukl (34 o § g 28,50 gl
a=12m,b=-12 m/s, c = 1.5 m/s* S 13 U3l ) paa i Lgliny g

The position vector of 5 car on a road is given by x(t) = a + bt + ct?, and it’s
represented by the graph shown below.
Wherea=12m, p=.13 m/s, and ¢ = 1.5 m/s?.
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Calculat the velocity of the car at i
¢t =6Sec t=6SEC‘-"'M;5}lJmAM‘@
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--------------------------------------------------

Estimate based on the graph, the time when ATl sl pus ) o eyl 5§ 0)
the car stops instantaneously, Bl e e i g

......................................................................................................................................

Find the average velocity of the car in the diww&ﬂ&w

®
~ time interval (0 Sec - 9 Sec) (0 Sec -9 Sec) 5 i
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A stone falls downward from point A to

I
point C passing by point B which is
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Uyo = 12 m'sﬂl

Uy, = 8m. 52

(#1. Lagthe Janl) ¢
The goalkeeper of a football team, executing a goal kick, hits the ball from the
playground into air, the two components of the ball's launch speed are:
Vo =12m. st
Vyo=8m.s71

(Neglect air resistance)

Calculate the initial velocity of the ball, AU ASGN) Ao pudl 1ok ) ()

.................................
----------------------------------------------------------------------------------------------------------
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.....................................................................................................................................

..........................................................................................................................................

Find the launch angle of the ball TR g .
with the surface of the playground, el Bl & BS0 ky) ST D)

Find the magnitude vertical velocity Ja0A a5 KU A ) e Jha 23
of the ball 1.6 Sec after launching,
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A wooden box of mass 2.0 kg on an
inclined plane & = 20°as shown in
the figure. The static friction force
between the box and the plane is

8.0N.
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